o unnuitnnsy L
Cwn Ugqun]niph whgwb dpwlynyph YEunpnt 200U -5 wlon It 'L:.p:[:uluil
QUORTLELE ML thathnhn]wd
Mudhl 08
lumdp 05
Tuu 01
Onwghnp 55
Shuwth
Uhgwhghl Ynnp Ry Uhwyn ph Pinhutbinip
puw CPV puum Ubyjmbnulp m Em M ghtp |[fw bwlp qnuduip
Jupquwl 11[11 pgq of (22 npuwl) (22 npud)
[ | 1 3 I 4
4261 Ypuwubhjulwihb bymptp
mujpwhipikp
30197622 FNhE A4 Ul s 1000 625 625000
30192122 Gnhs UL hwwn 100 19 HYuuu
0197231 fbl_u]] IJ-LI, h[u]_n 15 200 40000
30197234 Bnpwwwiul Unown hugdny Ut huiwn 1500 J 13500.0
J0T92130 Twinhwn [S)0! huiu 100 5 = 5_00‘0 =
30197232 wpwawlun ik hunn 100 10 1000.0
39263200 Gnuwukbpuljuht ghpp U huann 880 5 44000
30192125 Uuiplkp UL I 250 4 1 000.0
30192160 TSIPhu U hwu 300 2 600.0
FULUL WLPRP RUM2PYLEGR
30192114 AULUTUE Ut | hun | 400 2 800,0
30197321 Yuiphs ik Zwin 1500 2 30000
30197112 Yuiphsh uwbp U uinith 400 5 20000
39292530 Putmb Lo jw (IR0 PN 200 5 10000
30192100 (FLwnhl (rek hun 100 3 300,0
30199420 LCNhULErh BRI Ul e 700 3 2100,0
| 30192133 Urpo U hun 200 2 400,0
30192111 Fuiph pupdhly U hun 1000 2 20000
100 000.6
Uowlnypuhl dpengunnidutph r |
79951110 htwn Jugms swnuynipinihbip 4239 0,375 1 0,375
Cughwbnip plunyph wyp
dwrmumpnitbp
Ey. Uunnpuigpm ppub L
79131300 hudwuonwgpndut Swnuympnih 3000 1 3 000,0
' 820
98391200 Uy dwinuym pincbiibp 100 1 100,0
hunnnily bywwnwuiht wy i plp
4269
39836000 [wl U hww | 1000 5 15 000,0




/’ hwnwl dwpphkim dn, wjwunduub U |'

139835000 , thuijunju huin 1200 5 6 000,0 | |
39831280 wyywyh dwpnptjnt vheng UL 1 700 15 10 500,(}_
39831276 gqniqupuibiuitinh Jmppdw bynip T 1hwp 1100 15 16 500,0 |
39224331 nnij) wjuwundwuk Ut huin 1300 10 13 000,0

qnquiphuly wnp hunuipkine hwdwp Il
39839200 hwuwpuly huwnn 150 10 1500,0

18141100  |aknUng wpliwnuwbpuhl Uu | qoug | 400 20 8 000,0
31521300 judy ru huwwn 100 300 30 000,0 |

31684100  [Jupnul tpypbtnwbh UU | hwwn | 650 20 13 000,0
31686000 jupng unynpuljub Uu. | hwun 150 20 3 000,0_
31321190 HEynpwlub jup 274 Jd Ul | dbnp 350 50 17 500,0
39221480 Om qupwlih hunquitnuljukp UL hunn 1500 4 6 000,0_
44411100 dnpuily Uy hwwn 2000 5 10 0600,0
39716100 hmphz U huwwn 18000 12 216 000,0

_ 39221280 Swyyuily/ pudu/ Ul huiwn 5000 42 210 000,0

. 15811210/1 |unnpphp Uu Ug 3000 30 90 000,0

24321390/2  |U ynhn) Swduywyt A 1hwp 2250 225 50 625,0
Jpth]nlp,qmmpmumh
15321000/1  |oquiwgnpdwi phujuib hjnip YU hap | 500 60 30 000,0
746 625,0
wninbowlpeb b uwbhnwpuhhghLihl dhengbbp ' _ 50000 =
39831245  |hlnnil odwn Uu | (hwp [ 1300 10 13 000,0
33711480  |odwin UU. | hwwn | 2500 6 15 000,0
33761100 qniqupuibih pounpe Ul hwwn 70 100 7 000,0
33761400 pnpt whdknnghljukp Uu hwin 150 100 15 000,0
50 000,0
190511100 wnph hwduwpdwl Swewnugjniabitn iy, npwd | 36000 1 36 000,0
Uk
64211110 hGrwhinuuyght SwpwinipMUGGp hwn 60000 1 60 000,0
nknEjunyuljut swnuympintivphpeh U
92411100 4234 pmdwlinprpugpniint T 10 000.0 ) 100000
nph paiohonnd L
65111100 o 2 huwn 128.0 1 128.0
65311100 /R klpnpwulin eub pashund/
= ] Uu | Lsd 3498 | 51457.97 18000
LS Sumd shwinhuwg swh Auphowuun| / | a0 | gpud 12397.8




